Name: K‘Q{A | HOUR: Due Date:
U 2016 Geometry Midterm Review

Directions: This review consists of problems that could be on your m1dterm Make sure you
complete each problem and show your work.

1. For equilateral ARST, find the variable and thle side lengths. All units are in inches.
R +9 SR = 9+9 8]
o e m:j ST= 2(2) 18]
AN T = 3(D-918]

9. TFor isosceles ARST, find the variable and the side lengths. All units are in centimeters.

. 4x =2+l FE= 4(3) f1Z]

2= g 2)+0:012]

3. Find the missing angle measures, m<1 and m<2.

e e R T

[n<l-123

—b UM \W’\L:Z:- 52-%

5. Find the missing angle measures.

A
ot B




6. What are the missing coordinates of the isosceles triangle?

yhg%(?())b\

1)(&, 0)
P02, 7) Dlz, 2

P(-a,0) | *

7. What are the missing coordinates of this isosceles triangle?

c.(2v, 0)

R

_Al c(?,?)

B(v,-r)

8. If FH is a median of AEFG, find the perimeter of AEFG then state 3 true things about this

figure.
5+|3'+q(5)+l4>+'2(‘53*'33"7(53 2 T2 52 14O

| A, W —— y_FEH = HG

ox+ 23 H Tx=2
2X+R3 =TTx -2 o) H is the mnd(zom-_} of EG

5 = 5K 5 AEFG is Scalene.
5=%

9. Find x.
-

X A5 = ¥+85  bose <¢ are =

| x=30]|

(2x — 25)° (x+5)°



10. In the figure below, B is on I(TI, Eison DF , AC is parallel to DF ,and BE is congruent to BF.. Name the legs of
gle, and provide an example of

the isosceles triangle, name the base angles and vertex angle of the isosceles trian
an exterior angle. What is the measure of <DEB and <EBF?

A B C LDEBR = 45" ble hnear {m\rs are
; SLLPP .

.,
L

F N

LEBF = 110° ble A somthm

D
11.Identify the triangle ACAB is congruent to, then name all corresponding parts. There should
be 6 pairs. 2= cof responii) (l M Core. SO S.
A RAUMS o A "
B e ACABR= ACDE LBE <E 17 BLECE

+AzHD A =C0D
(AcBY¥ «DCE ABEDE

12.1dentify the triangle AXZW is congruent to, then name all corresponding parts. There should
& &N g VAN ~n g AL S

be 6 pairs. e =
X AYZWNE AX2Y Tl 2aY YZ = X2
ANKZE KT XwWEXY
dNZX Eeyzx WZE2Y

13.Write a two-column proof. )
Given: RO = STand RQ || ST F
Prove: ARLQ = ATUS / R@=ST /. gw en

= s
) R@l ST

2.4Qx4S
3.2RURE<TUS |3. Vechical 45 Or =

4 ARVQEATUS| 4. AAS

J.alt. Int. <s are =




14. Write a two-column proof.
Given: DE || JK, DK bisects JE.

] DEJJK /. gven

Prove: AEGD = AJCK DK bisects JE
. A 2 06 E GE | 2. def of bisechr
AWa 3. 4E£4) .okt ot 4 are =
; <D =L

q. AEGD = ajek

15. Write a two-column proof.

4. AAS

Given: V=25 TV=05 l
Prove: VR = SR
YT o 2 .
W i ‘Eﬁ'{? b
w7 3 3.
4 Q

12
16. ﬁ"gﬂ“ ARCHITECTURE You are

47 designing the window shown

in the photo. You want to make ADRA
congruent to ADRG. You design the
window so that DR L AG and RA = RG.
Can you conclude that ADRA = ADRG?

/. DRL AG
RA=RG
2. < DRA=90°
< DRG =90’
3, 2DRAZ <D
4 DR =DR

: S)VCJ'\

/. gwven

2 Nerhcal <s ove £
2. AARS
\'7‘. CPCTC

.def of L

3. substituh on
Y. veflexive

5. ADRA =atg 5.SAS



17.Write a two column proof using the stingray below.

GIVEN » QS LRP,PT=RT | QS LRV /. given
PROVE = PS = RS PT=RT
| 2. 4PTS =90’ 2. def of L
“RTS=90" f
3. 4P TS = RTS | 3. substrivtien
H. TS= TS H. reflexive
5. APTS&27TS | 5. SRS

18. Find x. PO, OR, and RPif A PQOR s an isosceles triangle with PQ = OR.

Ix+ | =3x-8

PG =2(q)+1 = 4]
RQ =3@-%=[19]
PR =9+ =[IO]

19.BASEBALL Alan, Brendon, and Carl were standing in a triangular formation shown. They
were throwing the baseball to warm up for the game. Find the value of x, the measure of each
angle and then conclude what two people must throw the farthest distance.

Rlan © Corl have o
Hhow Hhe farthes+ distance
_‘\'0 one ancther



20. A ladder is 15ft long and reaches 10 feet up a wall, as shown in the picture. How many feet is the bottom

of the base of the wall? ?lﬁ'\’h &30 cean —'T\I“Y\/
| x> =I5t
; "‘[10“ Joo +x2=225
T | x¥5(125

( X =515 ft
21. Find the value of x.

21 mi M&Swean Thm

| T~ ' +289 = ¥
h o~ L8 X

22. Find x. ?‘j\)ﬂ%o(em\ T
/5 52 +x* =82 [ r
<t lb g5 axtewl | x-fA
\5 A5 X

23. Find x if the triangle is an equilateral triangle whose sides are 20 cm long. P

oYl

\D?* + x*=202 | 1
& 20 A 201
72N JDO +X2-400 rof
m \ { X=-{300 {00 @
}_

- 4 XX='D€7

24. Find the slope, distance, and midpoint between each set of points.
A) points S and T.

WSTO

7 _ Distance: L
- St T =
6,511 | + %81 = A Midpoint: _ | 2., 2
1 1 S ‘
Pl A QO =Ix”™ Slope: /3
| i | 3 -
uE . 27C Slope: ©8& . 3 .1
gﬁgé 7 { ) N ’ - N(\ - q 3
o x -
5 mudpt- ( +o 1*5} (3 7
2 2 2,2



b) G(2,6), H(-1,4)

distance

37.+ 2-7.: HG‘}l
(0 W d :\'\6'\2'

Distance: ‘S )

Slope: 3
| Aise 2

|

H ' 42 |
ST

i O e
Vbbb bt
] { i 1.1
! O e o A
. B = 25 S
|
1 T . <
L | ! — e L
i T
T IEREENEE )
) T PN S
| | Y
i .
| P
1 4 s
1 1 t 171 i 1
| ! i i
-— s—

a5 +1a) = k3*

H mlpent

Distance: \I ,%LP
(;.-3. [l
Midpoint: \_2 * 2.

e = 5

Slope: Il

di5+ar\g<, .
Sre\F=K]

_Vﬁff:—\—%

i byt 1 | |
{ 1 : -
{1 i
RN
! Al | L i (555 IS% =
[ | | AT T
S ) —— | P N S S SR . S T e
17 | P 2 i RN
L R
| T I 3 0
I e f ERSRe H L
. 1 RO O O O L [ [ O > ’ 5
| | iNEER 11 l —\- (al‘:‘ |D+
i1 L | | 7{ ) -
| | | RN )
i i = p—
I !
0 R
B! | i [ |
1] i { i { 1]
{ P 4 { it

J)a\i

'O+4 &+5

Distahce: ﬁ é

(g "l j
Midpoint: 2
o
)
3
4+ =
A

Awstonce
Sl

T DE
b +9 =DE”

(25 =[°E"

15 = DE |

(5, 3)

Midpoint: ( i ) 63




F]f\@\)ﬁ;
Hdy +3 =g7 verhicad Ls
-3 -3 oare 2
yz 4 x =84 Find z° |
x=all 2=l Jinear
, _ O 90 ol S
‘%,\ A 'Z - (75 §u 1[)7&(

w. (| *
{ \( \} | !ﬁ,\\ o
8, .

25.Find the value of x, y, and z.

AL ® RV NP C S
a1 - 1Y) WWeal TC LD
] x ,«} &

- Y OL
r S ) — | O/

- A (¢ SN
=1 - S
| U = ML

[ }\ - .
|

A |
e S \
26.What is t1‘r16 degree measurESf ge; i\arcg\e; of ’)chl;c; f\two angles? @ Fl_l N CL e W(/\i\,ﬁ_u/
N\ " incoc pais € e WO <5
\ X+5+aAx =1¥0" oL s © O X+B=50+3 =,

\ 3x+3 =150 2059 = 11%°

. 2x =110 — =
U ... ik % SR—. L fM ©
| (X=59 { )i l

27. a) Given [ | | m, name the relationship that makes 210 = £16? 7 s
I lines Sorm 2 ok, EXT anofes. \
— o \2 9\10

b) Given 7 | | s, name the relationship that makes £3 + 212 = 180°? ~  4\3 12 1o e
/| lines form Suppl. CON. N+, LS. &6 \
13\14

o) If 211 = 215, what 2 lines are parallel? “<8\7 185, "
0 /lm becowse® corr. LS form |l lines. \ .

d) If £2 = £6, what 2 lines are parallel? ,
L m becwae = corr. £5 form Il liges .

e) If £9 = £13, what 2 lines are parallel? . o

~ / ¢
 § i~ 2 2~ - AT Y W7 )¢ aNNIYL ([ J] 1€\
Ll/m becowae Z Corr. LS 0N THAES.

®

28.Find x so that lines 1 and k are parallel, given < 2 =27x + 2 and <5 = 18x — 2.

La+ris=lsp:  (Con.int LS ane
“\1 ﬂ_*€a7X+2j+\%x-2,=\g«D' Swppl\

N{’w\ §5x =|s0° ( ok Wk LS
) 8\ 5 r -y Susepl. Conv. v
N 7& k __K:_i Yorm // [,'ng;} ¢




29.Find x so that lines 1 and k are parallel, given < 4 = 17x and < 6 = —5 + 18x.
7}\ 22, Z ol EXTLs form
Y —— {1 = -5 %18y Yoralle\ s
“‘\x ==-5
= 7$ w—n K r;( = 5]

Y J

[}
%
o

30.Name all the relationships that allow us to say 1is parallel to k.

85 gk, EXT 45
- \‘NT 7 Vi < 1 =<7 proves l||k because ‘FU((Y\ // LINeS .
N2 N~ o . int £S5
\5 < 2 =< 8 proves l||k because ﬁw.fm // /l'/)f’g ;
-t ' 7\G6 P K . f:z ‘ﬁ“ﬂ«‘ Z € {V‘\Q rm
\ < 3 =< 7 proves l||k because /Il _1ines.

Suwppl. CON. I+ LS
< 34+< 8 = 180 proves ||k because ‘ﬁ)(m [l lines .

31.Find x, then the length of EF. Show your work, geometry and justify your set up!

DE +EF = DF Sef)mem+ odaition,

D;.c'+11 2x+ 25 . F
‘:"‘E X+ + Lx+2L5 =9 (subs x=-93
i 9 .:I R

2x+3L =9 EF=3(x)+25
..3(0 ___5LD tl'=a<'q\+a5

3)("’ =-27 rEF"—'P-I

| X=-9|

32.AC and BD bisect each other at point M. Find x, y, and BM. Show your work, geometry and
i i | A -~ A0 AL Sor
justify your set up! A M ¥ CcCM aek o+ ,(4} y

~" Qor ‘|\ W e
“\’p ] %_ Q A - v/“ {4‘ ) \Ml"\\ ) '\(‘—‘D\(

= 1\
\ ) A

DM 2R gef of seg.
BisectoC

c
B =413 s oty %

- - ( subs u=7)

3X+3=3% ~1> AV =|2 :

5x+_33>=\5 @

-




33.Find all the missing angle measures.

Qo -+ LNLPHHO =80 = _ 10

2NLP =50 L = = 5
menrg = 110
m«NLR = /l"'l O )
)

34. Given the following triangle with angle bisector MK state if the following statements are true

or false.

a. m<MKA = 90° Falie M

b. BK = AK False

c. m<BMK = m<AMK TRUE > &
d. ABMA is isosceles with vertex angle M. False B K A

35. Given that the following are parallelograms, find x.

a. by
J{ = 5‘ 783‘
= . i - ; !
2% % . L f {i’i
£ el B -~ StX "e f‘é
S F ! 1854

QR 2P op. Siced of ponas ¢ |
il =0 254X one = . LE+<LF=150" Con. iny LS ofe

X :%:'_’% X =\\ 1Y +18x-l =l €O Poro. O Swppl.
+
. £ ok 1Dx +7d=160
R 4 IRy =108

. 'fbﬁ_AS x =\

4P 2 LR o@.LsoC O PoroL

D

—

Ul =Hx+10 AL =
?)Lo:"'\)(

‘Ofr)(l " 10




36.
a. Suppose VWXY is a rectangle and b. Suppose ABCD is a square and
XV=4x-9and WY =x+ 3, AC =9y -8 and BD = 7y +8.
hﬁnd‘:’i};(aand WM. , Find y and AC.

" ¥ ey i B En vf}"\‘.," ;:""t‘t.cf'{,‘\;,“,‘ff,‘j'\‘,‘ Ot OL . AQ%D ‘5\’3 m& S O‘F
ANZ=WT  ecfonale — (N QAL |

\ Y =4 = 5
wd N = .
e ™ y [ )}
<+ 0
¢ ’ %o |
A of = | Lo
as £ ._ of 4 4
- E 1 : :; |
r g ‘
| v = L} |
| X = &= |
| & o ‘6’ % |
| s A . [ ’\
. 4 A (XGS A O ‘
\ |
) [
i
x |

dere  AC=Q()-® Suwoshitwhon
(AC =

37. Use rhombus PLAN to write the correct geometric statement (if needed) and
justification.

a.) AL = PL because : C\e{‘ of Rhombus: q = SIS ' \

b.) <NEA = 90 because : Ainas of O_MU_S e _L'b tachn :
c)EA PE because : EI(%(!S O(&ﬂ)ﬂmkllé I)i ')CL‘A’ eacn 6hel.

d.)NA // because :

~ / | gw‘ %r’ 7 'L\ VaYaR a0 ol A L ) VY Wi K:‘ N ™S Oy 1'} . ':,JJ"]’\\' 0 (¥4 \”‘» \ ‘
e)<NPEx & L.V E because : (AUAUY OT QA MAIOMWNMEOLY DINECT K 1 U -
h

f) <PLA = LPNA because :_ 00 . LS of o Rhambus ace 2 |

g.) <LNA =~ <£M L because :_ (V! b (/'f* 'H'LL w@’fﬁ . |
h.) <LEA = 90 because : ‘ LS e -—L 10 eten other. ‘

11



38. Use rectangle RECT to write the correct geometric statement (if needed) and justification.

2.) RC = TE because : dl(m% ok o (bdmale e 22 e

b.) <TCE =90 because : d€‘€ O‘Q\ CLRQG\'C{\Q\.( 4!’70“"’45
c)EA~ I'T\V\ A'T because : (4005 OF O ‘

T

\ Onec

d)RE/ | (" because: (\< i w( \\6( [H(f\@ ((& DO/ ”l//{[“ﬂ/r”’}u
wll 4 2 I(J)vlr/m(\q S CJUJ 3 //
e.) <TRA = <RTA because: 10050 /S of 1505. Ns Qre 2

,
\S

f)<RAE =~ LCA 7 because: VP ‘)ﬂ ( UJQ LS N'£3 =

]

g.) <RTE ~<TEC because : // /m€5 ‘ﬁ)fm :;2 CLL’]" l'/)-f; Z.S

h.) <TCR + L ECR_=90 because : (\X@ﬁr (‘AC a [ec 'f/q/) ( l—{f . Q P(r{ﬂ?&/ (W /
J 4 pignt LS

39.a/ABCD Js a rectangle with B(5,-3),C(5,—6),and D(9,—-3). Find the coordinates of A.

o@pf)«&v&
WS i q
A l? E‘| § t
,355 60 oC
3 o i ]
et L0 cpCaT

b. ABCD is a rectangle with B(10,/7), C(10,4), and D(8,4). Find the coordinates of A.

¥

i

W
&

& .

o
T I W W VO WO S 1
ey
¥ 10O

12



40.Given the set of vertices, determine if it is a parallelogram or not. If it is a parallelogram,
determine whether it is a €ectangle) Explain why or why not.

a. A(-1, —5), B{—3, 0y, C(2, 2), Di4, -3) /POU’\CL\UL\O q

A
10
s
-

-
7

37- j 0 X

>

ABRCOD \S o P a/\d&,um o
becomse AR/ D onl Be//AD
So op. SIS Qe parallel .

b. B(—9, 1), E(2, 3), F(12, -2), G(1, —4)

!
A
10

- : .

- = :‘ ‘\ A

] o ~ 2l

T B 7 4 3 2 1 4 ¢ 7 o~g 10 ° ¥

3
\
\
z)v‘é‘

—\

KQC:

;_M» <3 = S\we/ L\'\)D - = ’__

REEEEEEER CEP e 78910
EAV A\ S —
N : \ope LD =
4 A 1| P4
L |—fes

becounse %=

Uﬁ
e ¢ MuSY nawe
?er . Sopes

2

5 7

y ¥
>//

@ ABLD 15 O- flcm\glt
_L&\opa +©’

om: 0P S10p¢>
~ ofe ’\P()u\(),LLM./\

13



41. For the parallelogram below, find m< 1 if m<K=118.

H J
1

G "v r" ‘118": K

42.1f m||n and triangle ABC is reflected over line m first, then line n, what transformation would
occur from AABC to AA"B"C”"?

a. reflection

b. dilation

c. rotation

d. translation

43.1f LMNO is reflected over line k first, then line m, what transformation would occur from
LMNO to L”"M”"N”O”?

a. reflection
b. dilation
c. rotation

d. translation




45. Given the point (x, y), write the image point if it is reflected across the x- ax1s the y-axis, \

yo g TUXmaxis (YY) —— ()

\Il X —_
(X\ﬁy Cij x) ‘j OXi S )((’3\—#7 <—- ‘j\)
J= - (X.lj\ —-—7(-5,—x3
46. What is the original point of Y’(-2, 4) under the translation (x,y) = (x + 5, y)?
él/ X. u4 ) —

Y ¢ /{ VI ~ \é
A \\x‘ LA T )

(x V) — (- Z‘ﬂ

47. What is the point of X’ if X(2, 5) is under the translation (x,y) = (x- 1,y + 2)?

(X,Y) — (x-1,y+2) M (\'FD

(2.2) —> (a-1, 5+2)

— (1)
48. Symmetry: How many lines of symmetry does a(n) ....
a. Square have? 4
b. Rectangle have? & t;z -
c. Isosceles Triangle have? \ f |>§
49. Graph the image of the figure with 50. Graph the image of the figure with a
a reflection across y = 2 reflection acrossy = x
K Ay Ay
o \ =7
C ett e B N ||
|
C — \ )
= ZRIRE e %
\7}
— I . e | R
5 "
Y

15



51. Graph the image of the figure * 52. Graph the image of the figure with a
with a rotation 90° counterclockwise rotation 90° clockwise about the origin.
about the origin.

A

53. ldentify each statement as true or false.

a) The diagonals of a parallelogram are always e) The diagonals of a square are ever
congruent. L'\ perpendicular bisectors of each other. 1
Folse - Sormeti e ( m& 2 Trolse a3y §
b) A parallelogram is always a square. f) A rhombus is always a rectangle.
Foulse — 05 ﬁw e aﬂS oL W(Ujb Fouse - o)nl'jf o S guane
c) The diagonals of a rectangle metim ;blsect ~ g)Asquare is a rectangle.
each other. ) _ QSW
Folse — Alwog Fodse ‘“’63 o~ r{(*“\yc
T | h) A square is always a rhom
d) The diagonals of a rectangle always bisect the 728
angles. K .
FCL S0 0Nl g oonen. v L 1% Boongrplj);i]t:a angles in a parallelogram are always

(6/1,&0{” g -

16



